RERAICHRIBDRAH CHERTIR
1. AiEE (R2iE)
(1) stEBERR

FEE « FECKESEHBICRTS | ZH2 _ I

THERERD $28 %38 _ (%)
] sxt | uwEE
= WIWMULE | 18- 28 O 5 &8
YEHEESHY (BOBAH) BBELE 5058 4150 1156 5306] 11.264[ 10504
] B - REHR 6580 3483 1,000 4483 11063| 9885
(mgg%’%g RS 0 323 87 410 410| 801
RN zom 71 108 53 251 32| 427
&5t 6651 4004 1,140 5144|  11.,795| 11,113
HE - REER 6400 3374 947 4321 10721
BR  mmeaes 0 270 58 328 328
(TH30E4D)
B> 2ol 86 208 57 265 351
&5t 6486 3852 1062 4914| 11400
B - REER 180 -109 53 162 -342
Bre  BERREEE 0 53 29 -82 82
BA zom 15 10 4 14 29
a3t 165 152 78 230 -395

(2) IRI0FERREN (B1.5MEMRZST)

SHRRERD EoS £35S o
i wImMLE | 15 - 28 O 5 -°
____ mELIEEERY 180 109 53 162 342
SRORB
HREAH 204 137 46 183 387
S5 U IS 0 53 29 82 82
NSRS -
EREAH 0 26 12 38 38
BEEAHSE 204 163 58 201 425

(3) ER31F4BRAHXRD)IREE. RPREE. (RFNE=TBREEZ

THRIERD go2 £32 .
i w3mME | 1% 28 Om 5t =
YERNBETSHN (B0EAH) BELE 5958] 4,150 1,156 5306] 11,264
HE - IRESR 6580 3483 1,000 4483 11,063
B ‘
(m,gg%%ﬁg R B 0 323 87 410 410
ﬁ@{(%gE@ Z 0t 71 198 53 251 322
a5t 6,651 4,004 1,140 5144 11,795
HE - IREESR 6,631 3512 990 4502| 11,133
SAH  EERE s 0 296 70 366 366
(ER31E45)
B> 20kt 86 208 57 265 351
a5t 6717 4016 1117 5133| 11,850
HE - IRESR 51 29 -10 19 70
Ere  GERREEE 0 -27 17 44 44
BA zom 15 10 4 14 29
a5t 66 12 23 11 55




FEE - FECXESETBICRITD
RENAICHRIBORAH CMERTTR
2WDO—8E

1
SHBERD w22 £33 ] =)
) a3t |wwst@E
i WML |15 28 O 5 a3
YEFIBESME (BOEAR) BBELE 1,212 866 207 1,093 2305 1,922
W - REHE 1,507 822 200 1,044 2551 2195
HEE o
ngfgﬁ 20t 13 43 6 49 62| 101
a3 1,620 869 230 1,099 2619| 2305
W - REHER 1,507 823 200 1,045 2,552
Bk AR e 0 2 1 3 3
(ERKI0F4E)
B> 20t 15 38 9 47 62
a3 1,522 863 232 1,095 2617
W - REHER 0 1 0 1 1
Erg HERREEE 0 ) -1 -3 -3
BA zom 2 5 3 -2 0
it 2 6 2 -4 ol
XIRBEVVERRIC KD
(2) THIOFEEREEL (31 SMUEIIREST)
THRERD go2 s i
5 WML | 1#- 2/ O =°
: —ewizeE @sx) x 0 4 2 6 6
DORETR
NIERES
Ei)
&3t 0 4 2 6 6
X TRGoR A PEE (R REEEE A
(3) ES1F4BEAHXED I IRBEBREIFRL
SHRBERD Eo2 £33 o
T WML | 17 - 28 OR =°
HEFIBESLY (BOEAR) BBELUE 1,212 866 207 1,093 2,305
W - REHER 1,507 822 200 1,044 2,551
S EE \
T o R ETR 0 4 > 6 6
a@gg%) Z0ft 13 43 6 49 62
a3 1,620 869 230 1,099 2619
W - REHER 1,537 839 206 1,065 2,602
BAH i ERE S 0 2 1 3 3
(ER31F4E)
B> Z0tt 15 38 9 47 62
a3 1,662 879 236 1,115 2,667
W - REHE 30 17 4 21 51
Sl - 0 2 -1 -3 -3
BA zom 2 -5 3 -2 0
a3 32 10 6 16 48

X RAd CER31F48) BRICIIER29OFEEREEDDHL) - HUVRBE SWE (ERI0FSHRHR) 238

B - BVREE SWEDESNR

B3mUL : 308,

1@ 2% 168, O @ 48




FEE - FECRBEERTBICRITD
REBNRBICRIZBORAH EEIRTIR

3. raEpithisl (HERE. 85, ). SPO—EEE)

(1) tEELRR

THIERS g0 £33 ] (B%)
) st |uwitE
i WAL | 18- 2% O 5 a3
YEFATEEHRE (BOSAM) S8 UE 1888 1336 387 1,723 3611 3461
W - (RENER 1022 1,043 300 1,343 3265| 3034
HBEE R
(W%é%ﬁg Ml AR S B 141 34 175 175 300
ﬁgffgﬁﬁ) Z0it 53 119 38 157 210| 209
ast 1975 1,303 372 1,675 3650| 3543
W - (RENER 1004 1,023 290 1,313 3217
Bk M AR S B 0 126 25 151 151
(ERKI0F4E)
B> Z0t 51 119 38 157 208
a3t 1055 1268 353 1,621 3576
W - (RENER 18 -20 -10 -30 -48
Bre  BERREEE 0 15 9 24 24
BA zom -2 0 0 0 -2
a3t -20 -35 -19 54 74
(2) ERRIOFERRENH (31 .5MUFHEERESD)
SHEREXD £25 £35S -
5 WML |15 - 2/ O 5 -°
_____ [zeImeE @E2 * 3 3 - 2 5
SROlRBT
RS
E]
a3 3 3 -1 2 5
X TSI FREE R EEEE R ER
(3) E31F48RBAHXRPRERZRHFLS
THIERS g0 £33 o
i w3mME | 1% 28 Om =
YEFATEHRE (BOSAM) 5B UE 1888 1336 387 1,723 3611
W - (RENER 1922 1,043 300 1,343 3,265
HEE :
(m,gg%%ﬁg R B 0 141 34 175 175
ﬁ@{(%gE@ Z 0t 53 119 38 157 210
a3t 1975 1,303 372 1,675 3,650
W - (RENER 1004 1,023 290 1,313 3217
BAD  HEERE sy 0 126 o5 151 151
(ER31F4E)
B> Z0kt 51 119 38 157 208
a3t 1055 1268 353 1,621 3576
W - (RENER 18 -20 -10 -30 -48
Bre  bERREEE 0 15 9 24 24
BA zom -2 0 0 0 -2
a5t -20 -35 -19 54 74




FEE - FECXESETBICRITD
1%%%Jﬁﬁl‘_1$5£0)%ﬂ3jc‘:ﬁﬁ R7IR

1 nJrﬁﬁc‘:IEﬂ(

SHERERD $£28 %38 i (Z5)
) st |uEE
EH WImMLE |15 28 O 5 St
YENAESHH (BOBAH) 5B UK 1703 1212 342 1,554 3257] 3206
] HE - REMR 1,965 082 272 1,254 3219| 2791
@gé@g%g eI E 0 132 36 168 168| 335
ng% Z0ts 5 36 9 45 50| 117
a8 1970 1150 317 1,467 3437| 3243
B - REMR 1,863 932 249 1,181 3044
BR emeEes 0 110 23 133 133
(TH30E4R)
B> 20t 20 51 10 61 81
&t 1883 1,093 282 1,375 3258
HE - REMR -102 -50 23 73 175
Ere OEERREER o) 22 13 -35 -35
BA zom 15 15 1 16 31|
&t -87 57 -35 92 179

X< HRBERIICET BRI FESIE
(2 IIWZ:BOEEJE%{EE%:F (B1.5MFRRESE)

THEEX go2 s i
P W3EMLE |15 2% O =°
(R) FINE=TEx 0 8 6 14 14
i | 4 mPRTE 60 36 6 42 102
RYRB
() S=HINESRTE 54 o7 9 36 20
UR) TERTE 45 24 9 33 78
neeras | (R RMNE-T8 o 13 6 19 19
a3 159 108 36 144 303
X ER32F488358 ( () FHINS=TBIRBE) . LUHNSREERBICHEOSTEEIE (1528—166%)
(3) E31F4BRAHX (R FNES=T BREBREZFL
THIERD Eo2 £33 o
T BomMLE | 1% - 28 O =0
YERRTSRE (BORAH) BELE 1703 1212 342 1,554 3257
HE - (REER 1,965 082 272 1,254 3219
HEE o
(RO (BERREER 0 132 36 168 168
ng% 20t 5 36 9 45 50
a3 1970 1,150 317 1,467 3,437
WE - (REER 2022] 1,019 273 1,202 3314
BAB  EmRE s 0 123 29 152 152
(ER31F45)
B> 20kt 20 51 10 61 81
a3 2042 1,193 312 1,505 3,547
HE - (REER 57 37 1 38 o5
ERg HERREEE 0 9 -7 16 16
BA zom 15 15 1 16 31
it 72 43 5 38 110




FEE - FECXESFSBICRITD
RERAICHRIBDRAH CHERTIR
5, JtEpithisi (REBI, KT, FEAKIT, SRAKTTEE)

(1) tEELRR

THEREXD gE28 £38 _ E))
\ ) a3 |uwst@E
i WImME | 1528 O 5 a3
WERIBESHN (BOEAM) BEUE 1,155 736 200 936 2001| 2005
HE - REHES 1,186 636 206 842 2028| 1,865
HBE o
(IIZIﬂZSOkEJE IR E R 46 15 61 61 157
ﬁgffgﬁﬁ) Z0it 0 0 0 0 0 0
a5t 1,186 632 221 203 2089| 2022
HE - REMES 1,126 596 186 782 1,008
1R iR R B 0 32 9 41 41
(ER30E45)
B> 20t 0 0 0 0 0
a3t 1,126 628 195 823 1,949
HE - RETES 60 -40 -20 -60 -120
Ere  GERREEE 0 14 -6 20 20
BA zom 0 0 0 0 0
a5t 60 54 26 -80 -140

(2) ERRSOFERB=EM

ZHEERREX D F2S GRS szt
=5 BW3MMULE 1R 2% Om% g
S— () =B THEX 0 11 9 20 20
(R =&B—TH 42 24 6 30 72
nerss | R REFTZTE O 13 6 S 19
EJi}
=5 42 48 21 69 111
X AUB BRENEEL N STEE (RE07E-EE1175)
(3) ERI1F4BRAH
THIERERSD £28 £33 -,
T WomMLE | 15 2% O
WBRIATSHE (BORAM) BEUE 1,155 736 200 936 2,091
) HE - RBEMESR 1,186 636 206 842 2,028
TR EmRE B 0 46 15 61 61
ﬁ@{(%g% Z0t 0 0 0 o) 0
a3t 1,186 632 221 903 2,089
HE - RBEMER 1,168 631 201 832 2,000
RIAH  iEERE S 0 45 15 60 60
(Em31548)
B> Z0t 0 0 0 0 0
a5t 1,168 676 216 892 2,060
HE - RBEHER -18 -5 -5 -10 28
are HERREER 0 -1 0 -1 -1
BA zom 0 0 0 0 0
a5t -18 -6 -5 11 -29




